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Digital Simulation Program

This simulation program is written for the purpose of analyzing the control system.

Noboru Tomita
Tadao Fukuyama

Several computing

blocks which are similar to the computing elements of the analog computer are provided in this program and

the digital computer is operated like an analog computer for the actual calculations.

The results of calculations can be obtained by putting in the data which specify the configuration of the

control system in about 5 to 10 minutes.
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Example 1. Generation of the sinusoidal wave.
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Example 2. Simulation of the control system,
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Input data of example 2.
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